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1.
Which of the following can NOT explain why large firms tend to pay higher salaries?

A) Large firms find monitoring more expensive.

B) Large firms allow less independence and have more rigid discipline.

C) Large firms find job vacancies less costly.

D) Efficiency wages work better in large firms.
Ans: C

2. The index of occupational dissimilarity for women and men

A) would be 100 if all occupations were completely segregated.

B) would be 100 if men and women were randomly assigned to jobs.

C) has risen since 1970.

D) shows the percentage workers who face occupational discrimination.
Ans: A

